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Name
Linear/Quadratic Systems Review

Period
Use the points provided to write the quadratic in the form requested.

Date

1. Given the roots x=3 and x=5 and the point (1,-16) write the equation root form and then standard form.
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2. Given the vertex (2,5) and the point (3,8) write the equation in vertex form and then standard form.
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3. Given the three points (1,6) , (3,18) , and (0,3) write the equation in standard form.
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Solve by factoring
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Solve by any means
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0=x*+3x+5
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Solve the quadratic inequalities (sketch if needed)
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Identify the vertex, focus, directrix, and axis of symmetry.
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